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EXPLANATIONS  

 



 

(23 - 28) : 
{i) All coins are glasses —» Universal Affirmative (A-type) 
(ii) Some glasses are cups —» Particular Affirmative (I-type) 
(iii) No man is tiger —> Universal Negative (E-type) 
(iv) Some men are not tigers —> Particular Negative (O-type) 
 

23. (3) Some cups are boxes. 
 
 

All boxes are pins. 
 
I + A => I‐type of Conclusion "Some cups are pins" This is Conclusion III.  
 

24. (2) Some pens are pencils. 
 

All Pencils are caps.  

I + A.=> I-type of Conclusion "Some pens are caps". 

All pencils are caps. 

 
All caps are buses. 
A+A=> A‐type of Conclusion "All pencils are buses" 
Some Pens are Caps. 
 
All caps are buses. 
I + A =» I‐type of Conclusion "Some pens are buses". This is Conclusion II. 
 

25. (2) All shirts are skirts. 
 
 

All skirts are banks. 
A+ A =» A‐type of Conclusion "All shirts are banks". 
 
All shirts are Banks. 
 
All banks are roads. 
 
A + A => A-type of Conclusion 
"All skirts are roads". 
All banks are roads. 
 
 



All roads are brushes. 
A+A => A-type of Conclusion “All banks are brushes”. 
 

              All Shirts are banks. 

All banks are roads. 

A+A => A-type of Conclusion “All shirts are roads. 

All shirts are roads. 

All roads are brushes” 

A+A => A-type of Conclusion “All shirts are Brushes “. 

Conclusion III is Converse of it. 

26. (4) Some spoons are plants. 

All Plants are crows. 

I+A=> I-type of Conclusion “Some spoons are crows”. 

Conclusion II is Converse of it. 

Conclusion III is Converse of the third Premise. 

27. (4) Some hens are ducks. 
 

All ducks are pigeons. 

I+A=>I-type Conclusion "Some hens are pigeons".  

All ducks are pigeons. 

All pigeons are sparrows. 

A+A=> A-type of Conclusion All ducks are sparrows”. 

This is Conclusion I 

Some hens are pigeons. 

All pigeons are sparrows. 

A+A =>A-type of Conclusion Some hens are sparrows”. 

 Some hens are pigeons . 



All   piggeons are spaarrows. 

I+A => I-type of Coonclusion Soome hens aree Sparrows 

Conclussion III is converse of it.  
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 53. ( 1 ) ?  = 11797 - 3695 = 8102 

 54.(2) (12.25 x 4.02 - 14.26) x ? = 699.7 

=> (49.245 - 14.26) x ? = 699.7 => 34.985 x? = 699.7 
=> 34.985*? =699.7  
 

>? = 
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=20 

 
=

 
55. (2) (12.25 * 4.02-14.26)*? = 699.7 
 

  (49.245-14.26)* ? = 699.7 
 34.985 * ?= 699.7 

଺ଽଽ.଻ ?  
ଷସ.ଽ଼ହ

=  = 20 
 

଺ଷଶ
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55. (3)  +? 2 = 61.28 
 

=> 25.28 +? 2 = 61.28 
 
 =>? 2 = 61.28 -25.28 = 36 
 
=>? = √૜૟ = 6 
 

56  ସହଶכ?
ଵ଴଴

.(5)  = 311.88 
 

 ? = ଷଵଵ.଼଼כଵ଴଴
ସହଶ

 = 69  
 
 

.  



 
 
 



 
 



 

 



 
 

 

  

 

 

 

 

 

 


